# INSTITUTE OF MANAGEMENT SCIENCES, PESHAWAR DETAIL OF FUNDS GENERATED AND DISBURSED AS FINANCIAL AID / SCHOLARSHIPS 2021-2022

#### **Scholarship Funding / Grants**

IMSciences is continuously working with corporate sector, donors and development organizations to improve the living standards of local communities FATA, Khyber Pukhtunkhwa and the whole country at large, by providing financial aid opportunities. The aim of strengthening Institute in resource generation is to facilitate and meet the increased expectations of financially constrained but talented current and prospective students of the Institute, by eradicating poverty and unemployment and strategically align the resource generation facilities of the Institute with International universities, donors and development organizations.

IM|Sciences has funded a significant number of students who are facing financial constraints and are unable to continue their higher education. In session 2021-2022, 54 % of the total strength has been provided financial support worth Rs. 230.659/- Million, in 19 different need and merit based scholarship programs, interest free student loans, siblings fee rebate, work study programmes and global cultural exchange programmes. Total 1448 students have availed financial assistance under the following programmes on need and merit basis.

#### **IMSciences Partial Scholarships**

|     |                                |          | Amount Per | Scholarship |                 |
|-----|--------------------------------|----------|------------|-------------|-----------------|
| Sr# | Programme / Discipline         | Students | Student    | Amount      | Rs. In Millions |
|     | MBA 3.5 Years - 2018           | 4        | 98,512     | 394,048     | 0.394           |
| 2   | MBA 1.5 Years - 2019           | 5        | 115,100    | 575,500     | 0.576           |
| 3   | MBA 1.5 Years - 2020           | 5        | 115,100    | 575,500     | 0.576           |
| 4   | MBA - 2021                     | 3        | 94,355     | 283,065     | 0.283           |
| 5   | MBA (Non Business) - 2021      | 1        | 126,080    | 126,080     | 0.126           |
| 6   | BBA - 2018                     | 14       | 117,162    | 1,640,268   | 1.640           |
| 7   | BBA - 2019                     | 21       | 128,412    | 2,696,652   | 2.697           |
| 8   | BBA - 2020                     | 18       | 128,412    | 2,311,416   | 2.311           |
|     | BBA - 2021                     | 13       | 140,840    | 1,830,920   | 1.831           |
|     | BCS - 2018                     | 4        | 117,162    | 468,648     | 0.469           |
|     | BCS - 2019                     | 7        | 128,412    | 898,884     | 0.899           |
|     | BCS - 2020                     | 3        | 128,412    | 385,236     | 0.385           |
|     | BCS - 2021                     | 5        | 140,840    | 704,200     | 0.704           |
|     | BS Accounting & Finance - 2018 | 6        | 117,162    | 702,972     | 0.703           |
|     | BS Accounting & Finance - 2019 | 12       | 128,412    | 1,540,944   | 1.541           |
|     | BS Accounting & Finance - 2020 | 12       | 128,412    | 1,540,944   | 1.541           |
| 17  | BS Accounting & Finance - 2021 | 8        | 140,840    | 1,126,720   | 1.127           |
|     | BS Economics - 2018            | 2        | 117,162    | 234,324     | 0.234           |
| 19  | BS Economics - 2019            | 5        | 128,412    | 642,060     | 0.642           |
|     | BS Economics - 2020            | 3        | 128,412    | 385,236     | 0.385           |
|     | BS Economics - 2021            | 2        | 140,840    | 281,680     | 0.282           |
| 22  | BS Software Engineering - 2018 | 7        | 117,162    | 820,134     | 0.820           |
|     | BS Software Engineering - 2019 | 8        | 128,412    | 1,027,296   | 1.027           |
|     | BS Software Engineering - 2020 | 5        | 128,412    | 642,060     | 0.642           |
| 25  | BS Software Engineering - 2021 | 5        | 140,840    | 704,200     | 0.704           |
|     | BS Data Science - 2019         | 3        | 69,162     | 207,486     | 0.207           |
| 27  | BS Data Science - 2020         | 5        | 69,162     | 345,810     | 0.346           |
| 28  | BS Data Science - 2021         | 5        | 75,672     | 378,360     | 0.378           |
| 29  | BSc Social Science - 2018      | 3        | 117,162    | 351,486     | 0.351           |
| 30  | BSc Social Science - 2019      | 5        | 128,412    | 642,060     | 0.642           |
| 31  | BSc Social Science - 2020      | 4        | 128,412    | 513,648     | 0.514           |
| 32  | BSc Social Science - 2021      | 3        | 140,840    | 422,520     | 0.423           |
| 33  | BS English - 2019              | 7        | 57,575     | 403,025     | 0.403           |
| 34  | BS English - 2020              | 9        | 57,575     | 518,175     | 0.518           |
| 35  | BS English - 2021              | 9        | 62,898     | 566,082     | 0.566           |
|     | Total                          | 231      | 4,030,147  | 26,887,639  | 26.888          |

#### **IMSciences Tuition Fee Waiver**

|     |                           |          | Amount Per | Scholarship |                 |
|-----|---------------------------|----------|------------|-------------|-----------------|
| Sr# | Programme / Discipline    | Students | Student    | Amount      | Rs. In Millions |
| 1   | BS Economics - 2019       | 49       | 70,837     | 3,471,013   | 3.471           |
| 2   | BS Economics - 2020       | 32       | 70,837     | 2,266,784   | 2.267           |
| 3   | BS Economics - 2021       | 23       | 77,943     | 1,792,689   | 1.793           |
| 4   | BS Social Sciences - 2019 | 48       | 59,250     | 2,844,000   | 2.844           |
| 5   | BS Social Sciences - 2020 | 44       | 59,250     | 2,607,000   | 2.607           |
| 6   | BS Social Sciences - 2021 | 46       | 65,168     | 2,997,728   | 2.998           |
|     | Total                     | 242      | 403,285    | 15,979,214  | 15.979          |

#### Brother / Sister (Siblings) Fee Rebate

|     |                           |          | Amount Per | Scholarship |                 |
|-----|---------------------------|----------|------------|-------------|-----------------|
| Sr# | Programme / Discipline    | Students | Student    | Amount      | Rs. In Millions |
| 1   | BBA (Hons)                | 39       | 34,834     | 1,358,525   | 1.359           |
| 2   | BS Data Science           | 7        | 17,229     | 120,600     | 0.121           |
| 3   | BS English                | 8        | 20,219     | 161,750     | 0.162           |
| 4   | BS Software Engineering   | 2        | 86,050     | 172,100     | 0.172           |
| 5   | BS Social Sciences        | 14       | 26,211     | 366,950     | 0.367           |
| 6   | BSc Economics             | 3        | 19,250     | 57,750      | 0.058           |
| 7   | BCS                       | 2        | 39,650     | 79,300      | 0.079           |
| 8   | BS Accounting and Finance | 11       | 37,359     | 410,950     | 0.411           |

| 9  | MBA                    | 11  | 38,014  | 418,150   | 0.418 |
|----|------------------------|-----|---------|-----------|-------|
| 10 | MBA (Non-Business)     | 4   | 39,650  | 158,600   | 0.159 |
| 11 | MS Development Studies | 1   | 39,650  | 39,650    | 0.040 |
| 12 | MS Economics           | 1   | 32,400  | 32,400    | 0.032 |
| 13 | MS Project Management  | 2   | 39,650  | 79,300    | 0.079 |
|    | Total                  | 105 | 470,165 | 3,456,025 | 3.456 |

## $\underline{IMSciences-Employee's\,Son\,Scholarships}$

|     |                                |          | Amount Per | Scholarship |                 |
|-----|--------------------------------|----------|------------|-------------|-----------------|
| Sr# | Programme / Discipline         | Students | Student    | Amount      | Rs. In Millions |
| 2   | MSCS - 2021                    | 1        | 50,228     | 50,228      | 0.050           |
| 4   | BS Software Engineering - 2019 | 1        | 76,038     | 76,038      | 0.076           |
| 5   | BS Software Engineering - 2021 | 1        | 83,648     | 83,648      | 0.084           |
| 6   | BS Accounting & Finance - 2019 | 1        | 76,038     | 76,038      | 0.076           |
| 7   | BS Accounting & Finance - 2021 | 1        | 83,648     | 83,648      | 0.084           |
| 8   | BBA - 2021                     | 2        | 83,648     | 167,296     | 0.167           |
| 9   | BS English - 2021              | 2        | 44,675     | 89,350      | 0.089           |
|     | Total                          | 9        | 497.923    | 626.246     | 0.626           |

## IMSciences Staff Fee Rebate

|     |  |          | Amount Per | Scholarship |                 |
|-----|--|----------|------------|-------------|-----------------|
| Sr# | Programme / Discipline                 | Students | Student    | Amount      | Rs. In Millions |
| 2   | MS CS - 2021                           | 1        | 50,228     | 50,228      | 0.050           |
| 3   | MS Management - 2021                   | 1        | 61,463     | 61,463      | 0.061           |
| 5   | Ph. D Islamic Banking & Takaful (2019) | 1        | 118,450    | 118,450     | 0.118           |
| 6   | Ph. D Economics (2020)                 | 1        | 105,000    | 105,000     | 0.105           |
| 7   | BS Accounting & Finance - 2019         | 1        | 76,038     | 76,038      | 0.076           |
|     | Total                                  | 5        | 411,179    | 411,179     | 0.411           |

# $\underline{\textbf{IM}|\textbf{Sciences Semester Wise Gender and Merit Based Scholarships}}$

|    |   |          | Amount Per<br>Student / | Scholarship |                 |
|----|---|----------|-------------------------|-------------|-----------------|
| Sı | r #   Scholarship Programme / Discipline  | Students | Year                    | Amount      | Rs. In Millions |
|    | 1 IMSciences Trust Semesterwise Merit Scholarships                                  | 52       | 10,000                  | 520,000     | 0.520           |
| :  | 2 IMSciences MS Level - Semester Wise Merit Based Tuition Fee Waiver - Session 2020 | 140      | 12,414.90               | 1,738,086   | 1.738           |
|    | 2 IMSciences MS Level - Semester Wise Merit Based Tuition Fee Waiver - Session 2021 | 39       | 12,684.21               | 494,684     | 0.495           |
|    | Total   | 231      | 35,099                  | 2,752,770   | 2.753           |

## **Donor Scholarships**

|     | Donor Scholarships  |          |            |             |                 |
|-----|---|----------|------------|-------------|-----------------|
|     |   |          | Amount Per |             |                 |
|     |   |          | Student /  | Scholarship |                 |
| Sr# | Scholarship Programme / Discipline                                    | Students | Year       | Amount      | Rs. In Millions |
| 1   | HEC Ehsaas Undergraduate Scholarship Program - Batch 1 - 2019         | 54       | 166,911    | 9,013,200   | 9.013           |
|     | HEC Ehsaas Undergraduate Scholarship Program - Batch 2 - 2020         | 32       | 161,141    | 5,156,500   | 5.157           |
|     | HEC Ehsaas Undergraduate Scholarship Program - Batch 3 - 2021         | 28       | 40,000     | 1,120,000   | 1.120           |
|     | Allama Iqbal Scholarships for Afghan Students UG 2018                 | 48       | 345,000    | 16,560,000  | 16.560          |
|     | Allama Iqbal Scholarships for Afghan Students UG 2019                 | 62       | 345,000    | 21,390,000  | 21.390          |
| 6   | Allama Iqbal Scholarships for Afghan Students Ph.D 2019               | 1        | 701,000    | 701,000     | 0.701           |
| 7   | Allama Iqbal Scholarships for Afghan Students UG 2020                 | 87       | 418,000    | 36,366,000  | 36.366          |
|     | Allama Iqbal Scholarships for Afghan Students MS 2020                 | 5        | 482,000    | 2,410,000   | 2.410           |
|     | Allama Iqbal Scholarships for Afghan Students Ph.D 2020               | 3        | 701,000    | 2,103,000   | 2.103           |
| 10  | Allama Iqbal Scholarships for Afghan Students UG 2021                 | 111      | 418,000    | 46,398,000  | 46.398          |
|     | Chief Minister Education Endowment Fund Need Based Merit Scholarships |          |            |             |                 |
| 11  | Undergraduate Level Session 2018                                      | 2        | 309,600    | 619,200     | 0.619           |
|     | Chief Minister Education Endowment Fund Need Based Merit Scholarships |          |            |             |                 |
| 12  | Undergraduate Level Session 2019                                      | 3        | 269,600    | 808,800     | 0.809           |
|     | Chief Minister Education Endowment Fund Need Based Merit Scholarships |          |            |             |                 |
| 13  | Undergraduate Level Session 2020                                      | 2        | 265,200    | 530,400     | 0.530           |
|     | Chief Minister Education Endowment Fund Need Based Merit Scholarships |          |            |             |                 |
|     | Undergraduate Level Session 2021                                      | 4        | 256,200    | 1,024,800   | 1.025           |
|     | PAK USAID Merit and Need Based Scholarship UG 2018                    | 10       | 224,948    | 2,249,480   | 2.249           |
|     | PAK USAID Merit and Need Based Scholarship GL 2021                    | 4        | 226,894    | 907,576     | 0.908           |
|     | HEC Need Based Merit Scholarships UG 2019                             | 20       | 225,075    | 4,501,500   | 4.502           |
| 18  | HEC Need Based Merit Scholarships UG 2020                             | 20       | 225,075    | 4,501,500   | 4.502           |
| 19  | HEC Need Based Merit Scholarships UG 2021                             | 20       | 240,293    | 4,805,860   | 4.806           |
|     | IMSciences FATA Scholarship Program UG 2018                           | 13       | 186,700    | 2,427,100   | 2.427           |
| 21  | IMSciences FATA Scholarship Program UG 2019                           | 13       | 215,075    | 2,795,975   | 2.796           |
|     | IMSciences FATA Scholarship Program GL 2019                           | 4        | 214,500    | 858,000     | 0.858           |
| 23  | IMSciences FATA Scholarship Program UG 2020                           | 13       | 215,075    | 2,795,975   | 2.796           |
|     | IMSciences FATA Scholarship Program GL 2020                           | 4        | 214,500    | 858,000     | 0.858           |
|     | IMSciences FATA Scholarship Program UG 2021                           | 13       | 230,293    | 2,993,809   | 2.994           |
| 26  | IMSciences FATA Scholarship Program GL 2021                           | 4        | 222,300    | 889,200     | 0.889           |
| 27  | FEF Undergraduate Level Scholarships Session 2018                     | 8        | 100,000    | 800,000     | 0.800           |
| 28  | FEF Undergraduate Level Scholarships Session 2019                     | 5        | 100,000    | 500,000     | 0.500           |

|    | Government of Khyber Pukhtunkhwa Workers Welfare Board, Peshawar,<br>Directorate of Education Scholarship Programme | 13  | 178,970   | 2,326,610   | 2.327   |
|----|---|-----|-----------|-------------|---------|
| 30 | Benevolent Fund Scholarship Program   | 11  | 48,182    | 530,000     | 0.530   |
|    | Provision of Higher Education Opportunities for Students of Balochistan & FATA (Phase-II)                           | 3   | 256,667   | 770,000     | 0.770   |
| 32 | HEC - PhD Indigenous Scholarship Program  | 3   | 200,000   | 600,000     | 0.600   |
|    | Total   | 623 | 8,403,198 | 180,311,485 | 180.311 |

### **Student Loan Programmes**

| Sr# | Loans                   | Students | Amount Per<br>Student /<br>Year | Financial Aid<br>Amount | Rs. In Millions |
|-----|-------------------------|----------|---------------------------------|-------------------------|-----------------|
| 1   | Ihsan Trust Loan Scheme | 2        | 117,000                         | 234,000                 | 0.234           |
|     | Total                   | 2        | 117.000                         | 234.000                 | 0.234           |

# <u>Total Scholarships / Grants</u>

| Sr# | Scholarship Programme / Discipline           | Number of Students | Total Amount | Rs. In Millions |
|-----|--|--------------------|--------------|-----------------|
| 1   | IMSciences Partial Scholarships              | 231                | 26,887,639   | 26.888          |
| 2   | IMSciences Tuition Fee Waiver                | 242                | 15,979,214   | 15.979          |
| 3   | Brother / Sister (Sibling) Fee Rebate        | 105                | 3,456,025    | 3.456           |
| 4   | IMSciences - Employee's Son Scholarships     | 9                  | 626,246      | 0.626           |
| 5   | IMSciences Staff Fee Rebate                  | 5                  | 411,179      | 0.411           |
| 6   | IM Sciences Semester Wise Merit Scholarships | 231                | 2,752,770    | 2.753           |
| 7   | Donor Scholarships                           | 623                | 180,311,485  | 180.311         |
| 8   | Loan Schemes                                 | 2                  | 234,000      | 0.234           |
|     | Total  | 1,448              | 230,658,558  | 230.659         |

121500 20000 rent

13000 bills

4500 milk

3000 wifi.cable

5000 tuition

15000 abeera

18000 loan 13000 fam

30000 kitchen